AR ENEE N FERRK
P& K BFEREL BERR HEARR i35 BFKL
VFO(5:0)
61kg SEABFOAR N =
VSU(4:0)
70kg (GRS - 0 — 11 @ AEt
2 : 42
VSU(4:0)
65kg TERE 0 — 10 ©) EAERK
1 : 41
VSU1(4:1)
T4kg FANE 2 — 12 ©) PR K
2 : 02
VFO(5:0)
86-125kg AwEE= T~ —
VPO1(3:1)
86kg AHEZER 4 — 13 O 1AM
6 : 00
VSU(4:0)
50-57kg EEe R @ 11 — 0 A+ EF
2 : 31

4 — 3
AAY L3 RRAFE—YKRFE ERKF
PR BFREZ 35 HEAR F B EFKA
VFA(5:0)
61kg BREE) 11 — 8 @ IEfAE—
5 : 50
VFA(5:0)
50-57kg WTEE © 8 — 0 HE AR
1 : 20
VFA(5:0)
86kg {EBER © 7 — 2 H—T =2 R MAKX
1 : 24
VFO(5:0)
70kg — T~ JNFEEEH
VFO.(5:O)
T4kg — ~ EHZER
VFO(5:0)
86-125kg WEF ~ —
VFA.(S:O)
65kg 4 KBE © 4 — 0 BT
0 : 44




7 — 0
AR EI PN N ERKF
P& K EFKREL i HEAR izl EBFKL
VFA(5:0)
70kg IR KM © 8 — 0 JIFEEH
1 : 18
VSU(4:0)
61kg SEABFOAR @ 10 — 0 IEfE—
0 : 30
VFA(5:0)
50-57kg FEEE © 2 — 0 H R AR
0 : 26
VFA(5:0)
86kg PHRZER @) 8 — 1 Hh—7—3 A MK
1 : 30
VSU(4:0)
74kg RN E @ 11 — 0 BARES
1 : 29
VFA5:0
65kg e A —ER @) 6 — 2 AERxHE
1 : 17
VFO(5:0)
86-125kg RERJIEL ~ —

3 - 4
PHET R FI AAY c LR ARAR—=YKE
P& ¥R BFKA B HERNR i EBFKL
VFO(5:0)
74kg MIE PN —
VFA(5:0)
86kg FHESR 6 — 6 ©) 1R
1 : 32
VPO1(3:1)
61kg SRR 10 — 18 @) MWTEEE
6 : 00
VSU(4:0)
70kg FA SR A EE 0 — 10 ©) 4 RBE
1 : 18
VFO(5:0)
50-57kg B2 5 ~ —
VSU(4:0)
86-125kg BEA YL 0 — 10 @ KB IREE
0 : 31
VPO1(3:1)
65kg IRFEA @) 13 — 9 PEmE
6 : 00




2 — 5
AR EI PN N by NEa
P& K EFKREL i HEAR izl EBFKL
VFA5:0
86kg FRZER © 2 — 4 Ny F—KEB
: 55
VSU(4:0)
61kg PR A — BB 0 — 10 @ BEYE
1 : 33
VSU(4:0)
86-125kg Bt EE— 0 — 10 @ R
: 47
VSU(4:0)
50-57kg EER @ 10 — 0 TR
: 29
VPO1(3:1)
70kg FR] B e 4 — 11 O H RS
6 : 00
VSU1(4:1)
T4kg HE 3 — 14 @ TTENEE
3 : 45
VPO1(3:1)
65kg TEKRE 6 — 8 O e Ay 3 it
6 : 00




MHKRF ¥y N=al
P& K EBFEKL BERR HEAR i35 BFKL
VFA(5:0)
61kg 1B © 12 — 4 BEYE
5 : 11
VPO1(3:1)
70kg R HRE O 5 — 1 HE
6 : 00
VSU(4:0)
65kg L EL @ 10 — 0 el A B i
1 : 07
VSU(4:0)
50-57kg RAKIE @ 10 — 0 T
1 : 28
VSU(4:0)
86-125kg IS @ 10 — 0 RIRE
5 : 17
VSU(4:0)
T4kg L e ©) 10 — 0 TR
1 : 54
VSU(4:0)
86kg FEIFHERK @ 11 — 0 /Ny —KER
1 : 33

5 — 2
MHAFE HAY z LR ARR—YKFE
P& ¥R BFKA B HERNR i EBFKL
VSU(4:0)
61kg 1R ©) 11 — 0 PEEE
3 : 16
VFA(5:0)
50-57kg RAKIE (©) 10 — 6 WTEE
5 : 04
VSU(4:0)
70kg iy N 0 — 10 ©) 42 RBE
3 : 00
VFA(5:0)
86kg IR ©) 10 — 0 1R
1 : 14
VFO(5:0)
T4kg R mEE PN —
VFO(5:0)
65kg wLEL A~ —
VFA(5:0)
86-125kg gL & 1 — 8 © KA RE
2 : 19




KEH KEH
2 - 5
by NEa FEER
P& K EFKREL i HEAR izl EFKEL
VFA(5:0)
86kg Ny I —KER 0 — 4 © TR ME
0 : 51
VPO1(3:1)
T4kg TTEMEE 14 — 15 O RS K
6 : 00
VSU(4:0)
65kg e Ay 3 it 0 — 11 ©) FEAENRK
2 : 28
VFO(5:0)
61kg RS ~ —
VFO.(5:O)
86-125kg Rig= N -
VPOIGT)
70kg H & 2 — 8 O gAEt
6 : 00
VFA(5:0)
50-57kg TEEBIREL 0 — 2 © F+=E
0 35
KEH KEZ
7 - 0
LHKF FEER
P& % BFKA i HEAR i3 BFREL
VSU(4:0)
Tdkg EEDEA @ 10 — 0 S K
1 : 24
VPO1(3:1)
65kg wLES O 1 — 1 FEAWKR
6 : 00
VSU1(4:1)
50-57kg IRAKIE ©) 12 — 2 A+
3 : 00
VFO(5:0)
86-125kg i oy ~ —
VPOIGT)
70kg HE O 7 — 4 seAEt
6 : 00
VFO(5:0)
61kg BB E S —
VPOIGT)
86kg FEIFHERK, O 8 — 5 TEREAME
6 00




KEH REH
7 — 0
LHKRF ERKF
P& K EFKREL i HEAR izl EFKEL
VFA5:0
50-57kg RAKIE © 9 — 0 HREFSR
: 42
VFO(5:0)
86-125kg B E ~ —
VSU.(A:O)
61kg = @ 11 — 0 ERE—
: 55
VFA5:0
65kg wLES © 8 — 0 BB FA
2 : 01
VSU(4:0)
70kg T H#E @ 10 — 0 NI
: 38
VFA5:0
T4kg PEENES © 4 — 0 JEHEER
: 32
VSU(4:0)
86kg FESFIERR @ 10 — 0 h—7 =X MK
1 51




RFE% RZE%

by N=a Bk
P& K BFEREL BERR HEAR i35 BFKL
VFA(5:0)
65kg e A 2 i © 8 — 0 BERRSE
5 : 52
VFA5:0
T4kg TS © 10 — 0 BEAES
0 : 40
VFO(5:0)
86-125kg RIRZ ~ —
VPO1(3:1)
86kg /Ny H—KEB O 8 — 6 FEER
6 : 00
VSU1(4:1)
61kg BRYE @ 12 — 1 E e —
2 : 39
VSU(4:0)
70kg H HSE @ 10 — 0 Bz 9="51
1 : 37
VPO1(3:1)
50-57kg P{A=aE7eNs 4 O 12 — 5 HRFIAR
6 : 00

2 — 5
HAY L2 RZAR—=YKE FEER
PR BFREZ 35 HEAR f B BFKEL
VFO(5:0)
61kg REEE ) N —
VFO(5:0)
86-125kg )11 ~ —
VFA5:0
50-57kg WTEE 0 — 2 © A+EB
: 38
VFO(5:0)
70kg — T~ #wAE
VPO1(3:1)
65kg 4 KBE 1 — 7 @) EAMK
6 : 00
VFO(5:0)
Thkg — =~ RIBE K
VFA5:0
86kg {ERER 2 — 8 © TR
1 : 29




EEIpNEE N V- N=2
230 RFKH s BR HEARR P ER BFKL
VSU(4:0)
50-57kg a2 ©) 10 — 0 1EBE
1 : 13
VSU(4:0)
61kg SEARFNSR 0 — 12 ©) RAKIE
0 : 53
VFA(5:0)
65kg RFAH 0 — 6 © wLES
1 : 15
VSU(4:0)
86-125kg R 0 — 13 ©) IR E
1 : 17
VFA(5:0)
T4kg B 0 — 2 @ Al 2
0 : 22
VFA(5:0)
86kg FHRZER 0 — 8 @ FEITHERR
0 : 44
VSU(4:0)
70kg RAER R E 0 — 10 ©) TmEE
1 : 19

FEAZE BAY 2 LR ZRRE—YKE
P& & BFKL ik HEAR e BFKL
VFO(5:0)
70kg H & ~ —
VSU(4:0)
65kg P Py SRt 0 — 12 @ 42 RBE
2 : 21
VSU(4:0)
61kg BEYE ©) 12 — 0 PEEEt
1 : 35
VFA(5:0)
86-125kg 1RIRE 0 — 4 © KEIREE
1 : 03
VFO(5:0)
T4kg TTEREAE N —
VFA(5:0)
86kg Ny —KER 0 — 4 © ERER
1 : 28
VFA(5:0)
50-57kg TEHAL 0 — 13 © WTEE
1 : 59




ERAE FEER
230 BFRL s BR HEARR P ER BFKL
2DSQ
86-125kg] —
VSU(4:0)
70kg N B 0 — 10 ©) AEt
2 : 41
VSU(4:0)
50-57kg HIR AR 0 — 10 ©) At+EMA
0 : 47
VFA(5:0)
86kg h—7—% R MK 0 — 10 @ TR
1 : 00
VFA(5:0)
65kg AR T S 0 — 5 @ EAMK
1 : 42
VSU(4:0)
T4kg BRI 0 — 10 @ PR K
1 : 26
VFO(5:0)
61kg EfEE— ~ —




